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Various capital structures Charter Enterprises currently has $3 million in total assets and is totally equity-financed. Itis
contemplating a change in capital structure,

(Mote: The amount of total assets would nat change.)
. Compute the amount of deb that would be outstanding if the fim were to shiftto a deb ratio of 50%. §] |

b. Compute the amount of equity that would be outstanding i the fim were to shift o a debt rafio of 50%. $[_]
c. Is there a limit to the debt ratio's value? Iy

(O#. Mo, there is no fimit to the amount of debt ratio,

Yes, the debt ratio will never exceed 100%.
OF. No, the debt rafio depends upon a fimm's line of business.

OO, No, the amount of a fimm's debt rafio depends upon what industry they're in




